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Solve each problem.

1) 7,391 + 4,929 = 12,320

2) 8,321 + 4,955 = 13,276

3) 9,894 + 1,939 = 11,833

4) 4,931 + 4,405 = 9,336

5) 6,092 + 1,948 = 8,040

6) 5,582 + 4,417 = 9,999

7) 9,915 + 1,295 = 11,210

8) 8,318 + 6,456 = 14,774

9) 7,233 + 4,121 = 11,354

10) 7,618 + 2,684 = 10,302

11) 5,149 + 3,487 = 8,636

12) 9,596 + 8,375 = 17,971

13) 3,990 + 2,438 = 6,428

14) 3,382 + 3,332 = 6,714

15) 9,411 + 6,581 = 15,992

16) 9,914 + 3,219 = 13,133

17) 7,508 + 2,676 = 10,184

18) 7,260 + 6,113 = 13,373

19) 7,188 + 3,062 = 10,250

20) 9,566 + 4,634 = 14,200

Answers

1. 12,320

2. 13,276

3. 11,833

4. 9,336

5. 8,040

6. 9,999

7. 11,210

8. 14,774

9. 11,354

10. 10,302

11. 8,636

12. 17,971

13. 6,428

14. 6,714

15. 15,992

16. 13,133

17. 10,184

18. 13,373

19. 10,250

20. 14,200
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Modified

Solve each problem.

12,320 9,999 8,636 9,336

14,774 11,833 11,210 17,971

11,354 13,276 10,302 8,040

1) 7,391 + 4,929 = 12,320

2) 8,321 + 4,955 = 13,276

3) 9,894 + 1,939 = 11,833

4) 4,931 + 4,405 = 9,336

5) 6,092 + 1,948 = 8,040

6) 5,582 + 4,417 = 9,999

7) 9,915 + 1,295 = 11,210

8) 8,318 + 6,456 = 14,774

9) 7,233 + 4,121 = 11,354

10) 7,618 + 2,684 = 10,302

11) 5,149 + 3,487 = 8,636

12) 9,596 + 8,375 = 17,971

Answers

1. 12,320

2. 13,276

3. 11,833

4. 9,336

5. 8,040

6. 9,999

7. 11,210

8. 14,774

9. 11,354

10. 10,302

11. 8,636

12. 17,971
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